2-3 ypoBeHb 00yueHUsl, BXOQHON KOHTPOJIb

«YTBEpKOAION
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10.09 Sk SKII 6KII 8a80 11k 10K

10k
11.09 10k ) 7K O6KI1 8KJI 9296 1 1k KT
11xn
12.09 Sk Txn 8KII SKII 9290 T )4} 1 1xn
10k
13.09 8BAT [1xn 7K1 9k TKI 989r | Okx 8K
SKII 10k
11kn

14.09 10xn | 6a,0,m 11k
16.09 7K TKI 10k 10k | Ok Oxn

Ok 1 1k
17.09 O6KJI 11k | 10 kn

8KII
18.09 6B 1 1kn SKII SKII
Oxn
19.09 llxn | 7a76 Ok 10xn 8KJI
20.09 7B O6KJI 9B9r 9Kk
11k 10k




2 ypoBeHb 00yuyeHus 1 4eTBEPTH

«YTREpXKIAIO»
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14.10 626668
15.10 9a 96 6M 8a80
16.10 9891 S5k 8B&T TN T
9xn
17.10| dSxn 7K 7K1 SKII 8k | 9a90 QK1
SKJI 9kxn
18.10 51 | 6K 989r | 989r | 6K
7K1 T
21.10| oxx 8KII 5 K 7K SKIT
7K1 T
9k
22.10 6K OKII Ok 71 7K 8KJI
SKJI 9kn
23.10 SKII 92 96 8K
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17.12 | Sxn 8K OKII KT
O6KII
18.12 SKI oK1 6k | 8k | 9296 | 8k K1
19.12 T Skt 7xn | 8a80 8k | 9a96 OKII
Ok

20.12 Txn | 6k | 7xa | 989r | 6K

8KIT 989r
21.12 7K1 S8KJT
23.12| 9xx SKJI 7xI S5k | Sk 6KII QKT 7K1
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